INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

FPericy

Racing Screerrs

MOTOPLASTIC, S.A. , -
Moli de la sal, 1 - 08403 Granollers (Barcelona) SPAIN CUPULA ADAPTABLE A — SCREEN FOR — WINDSCHUTZSCHEIBE FUR

Mod. BLACK FAIRING
Ref.: 7012
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88

nfo@puigty - info@puigusa.com BMW R NINE T/ BMW R NINE T PURE [ Mod. carBON FAIRING

www.puig.tv - www.puigusa.com Ref : 7559

tornillos originales E 19N/m - Consultar fabricante w M
original screws 14lbf ft - See according to manufacturer ) @ ‘ ‘

||
DESCRIPCIO

N / DESCRIPTION
|

Capula / Screen

(arcasa / fairing |

Soporte derecho / Right support |

Soporte izquierdo / Left support

Casquillo @int. 8,5 x @ext. 14x12 / Dinner 8,5 x Douter 14x/2 Arrowhead
@ - | Tornillo Allen M8x40 DIN 912 / M8x40 DIN 912 Allen screw

Silemblock M5 / M5 Silemblock

Tornillo Allen M5x16 150 7380 / M5x/6 150 7380 Allen screw

Arandela Nylon M5x0,5 / M5x0,5 Nylon washer

~— |~~~

(<@§%

Adhesivos / Stikers |

Created by: www.ciandisseny.com




